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/DJX�PHUXSDNDQ�VHEXDK�VDODK�VDWX�HOHPHQ�\DQJ�SDOLQJ�EHUSHQJDUXK�GDODP�

PHQHQWXNDQ�HNVSUHVL�GDQ�HPRVL��'HQJDQ�HOHPHQ�\DQJ�EHUVLIDW�DXGLR�GDQ�GDSDW�GL�

UHSUHVHQWDVLNDQ�PDNQDQ\D�\DQJ�OHELK�NXDW�GDODP�OLULN�ODJX� .ODVLILNDVL�ODJX�GDSDW�

GLODNXNDQ�GHQJDQ�PHQJJXQDNDQ� OLULN� ODJX� VHEDJDL�PHGLD� \DQJ�GLJXQDNDQ�XQWXN�

PHQJNODVLILNDVL� HNVSUHVL� GDQ� HPRVL� VHVHRUDQJ� 'HQJDQ� PHQJJXQDNDQ PRGHO�

(PRWLRQ� 2QWRORJ\� 7KD\HU�0RGHO� NODVLILNDVL� WH[W� SURFHVVLQJ GLJXQDNDQ� GHQJDQ�

PHQHUDSNDQ� ILWXUH� SDUW�RI�VSHHFK GDODP� SURVHV� SUH� SURFHVVLQJ GHQJDQ� 6XSSRUW�

9HFWRU�0DFKLQH VHEDJDL�DOJRULWPD�XQWXN�PHQJNODVLILNDVLNDQ�HNVSUHVL�GDQ�HPRVL�

VHEXDK� ODJX�� 'LKDUDSNDQ� GHQJDQ� PHQJJXQDNDQ� 6XSSRUW� 9HFWRU� 0DFKLQH GDSDW�

PHQLQJNDWNDQ�DNXUDVL�KDVLO�NODVLILNDVL�

.DWD� .XQFL� �� /LULN� /DJX�� 7H[W� 3URFHVVLQJ�� SDUW�RI�VSHHFK�� 6XSSRUW� 9HFWRU�

0DFKLQH�


